(=7

(=FT

lockers.com _ Visit us at: wvww.lockers.com lockers;zer,

Extra Wide Designer Lockers — 20000 Series

Installation Instructions

Thank you for selecting the 20000 Series Extra Wide Designer Lockers. We are confident that the quality and construction of the lockers will prove
to be a good investment. These instructions are intended to assist you in a typical wall-anchored or back-to-back locker installation. Individual job
conditions will dictate the type of fasteners and whether the lockers must be anchored to the wall, the floor, or both.

The 20000 Series Extra Wide Designer Lockers require minimal
assembly. The basic lockers are factory assembled. It may be
necessary to install the bases onto the floor, the lockers onto the bases
and to each other, the optional side panels to the exposed sides of the
lockers, and the lockers to a wall. See reverse side for illustration of
three lockers being installed.

Hardware Supplied with Each Locker
1. (1) Metal wall strap with three holes to attach locker to wall or back-to-
back. Bend the strap to tie locker to wall as shown in illustration.

2. (4) #8 x 5/8” long pan head sheet metal screws to attach strap to top
of lockers back-to-back or between locker and wall.

3. (2) 10-24 x 1-1/4” long pan head machine screws to fasten lockers
together side-by-side. Mating t-nuts are pre-installed in locker walls.
See reverse side for illustration of three lockers being installed.

4. (2) 1-1/4” long wood screws to attach side panel to locker.
5. (1) Number plate.

Installation Instructions

1. Wooden slats are attached to the bottom of the base with finishing
nails to support the unit during shipping - remove them by tapping them
away from the base with a mallet, then remove any remaining finishing
nails.

Bases should be set in place and leveled. The rear edge of the base
should touch the wall or the other base if lockers are installed back-to-
back. There are 1-wide and 3-wide bases.

2. If the back of the locker is against a wall, bend the metal strap as
shown in the illustration. Set the locker on the base spaced 5/8” from the
wall for ventilation air. The metal straps will be installed in Step 5 below.

Leave the metal strap flat for fastening lockers back-to-back. Allow a 1-
1/4” ventilation space between the backs of lockers if lockers are back-to-
back and side panels are being installed. The metal straps will be
installed in Step 5 below.

Lockers alongside a wall with padlock type locking must be spaced 5/8”
from the side wall to allow swing room for the padlock.

3. Bolt multiple lockers together through the two unused holes and tee
nuts near the door hinges.

4. Attach the finished side panels flush with the front of the locker body
(not the door) allowing the excess to cover the 5/8” rear air space.

5. Once the lockers are plumb and level, attach the bent or flat
metal straps to the top of the lockers and to the wall or other
lockers as required.

6. Peel backing from number plate, align, and press into recess.

Illustration — 1 Locker

BEND UP FOR (4) #8 x 5/8" SCREWS
WALL
ATTACHMENT Q& (
METAL
SRAP N
WALL
SCREW
MBER
SIDE PANEL ' ﬁ\ NI:L>JLABTEE
/ 2
(2) 1-1/4"
WOOD SCREWS
(ARROWS)

LOCKER

1-WIDE
BASE

NOTE: HARDWARE IS
NOT PROVIDED TO TIE
LOCKER TO BASE.

SALSBURY INDUSTRIES
1010 East 62" Street, Los Angeles, CA 90001-1598
Phone: 1-800-562-5377 Int'l Phone: 323-846-6700
Fax: 1-800-562-5399 Int'l Fax: 323-846-6800
www.lockers.com engineering@lockers.com

Installation instructions are provided as general guidelines. It is advised that a professional installer be consulted. Salsbury Industries assumes no product assembly or installation liability.
Copyright © 2016 Salsbury Industries. All rights reserved. (Revision 07, 2/2//2017) Page 1 of 7



http://www.lockers.com
http://www.lockers.com
http://www.lockers.com

Extra Wide Designer Lockers - 20000 Series

Installation Instructions
lllustration — 3 Lockers

(4) #8x 5/8" SCREWS
-~ IF BACK-TO-BACK

(2) 10-24 x 1-1/4”

PAN HEAD SCREWS
EACH LOCKER +

/ (DOORS NOT SHOWN)

NOTE: HARDWARE IS
NOT PROVIDED TO TIE
LOCKERS TO BASE.

3—WIDE BASE

SALSBURY INDUSTRIES
1010 East 62" Street, Los Angeles, CA 90001-1598
Phone: 1-800-562-5377 Int'l Phone: 323-846-6700
Fax: 1-800-562-5399 Int'l Fax: 323-846-6800
www.lockers.com engineering@lockers.com

Installation instructions are provided as general guidelines. It is advised that a professional installer be consulted. Salsbury Industries assumes no product assembly or installation liability.
Copyright © 2016 Salsbury Industries. All rights reserved. (Revision 07, 2/2//2017) Page 2 of 7



Extra Wide Designer Locker Options - 20000 Series

Installation Instructions

These instructions are intended to assist you in positioning and fastening the sloping hood and angled side panel to the locker.

Sloping Hood Installation Instructions

1 - Wide Sloping Hood

Place the sloping hood on top of locker with the front edge flush with
the locker body, not the door, and the sides flush with sides of the
locker. Install two (2) 1-1/4” long self-tapping dry wall screws
(provided) through the ceiling of the locker compartment (from the
inside) into the bottom of the sloping hood. Pre-drill two (2) pilot
holes (6) inches from the front face of the locker with a 1/16” drill bit
as indicated.

FRONT EDGES

FLUSH
SLOPING
HOOD

1-1/4"

(2)

SCREWS ?

3 - Wide Sloping Hood

Place the sloping hood on top of locker with the front edge flush with
the locker body, not the door, and the sides flush with sides of the
locker. Install six (6) 1-1/4” long self-tapping dry wall screws
(provided) through the ceiling of the locker compartment (from the
inside — two (2) per compartment) into the bottom of the sloping
hood. Pre-drill two (2) pilot holes per compartment six (6) inches
from the front face of the locker with a 1/16” drill bit as indicated.

SLOPING HOOD
—

— ==

| /

1-1/4" SCREWS (6) /FRONT EDGES FLUSH
I

Angled Side Panel Installation Instructions

Attach the side panel flush with the front of the locker body, not the
door. Install two (2) 1-1/4" long self-tapping dry wall screws
(provided) in pre-drilled holes from inside the locker.

1-1/4"
SCREWS
2

ANGLED
SIDE
PANEL—

A

FRONT
EDGES
FLUSH —

SALSBURY INDUSTRIES
1010 East 62™ Street, Los Angeles, CA 90001-1598
Phone: 1-800-562-5377 Int'l Phone: 323-846-6700
Fax: 1-800-562-5399 Int'l Fax: 323-846-6800
www.lockers.com engineering@lockers.com

Installation instructions are provided as general guidelines. It is advised that a professional installer be consulted. Salsbury Industries assumes no product assembly or installation liability.
Copyright © 2016 Salsbury Industries. All rights reserved. (Revision 06, 08/17/2016) Page 3 of 7



Extra Wide Designer Locker Options - 20000 Series

Installation Instructions

Locker fillers may be cut to special sizes for custom installations.

Vertical In-Line Filler and Flat Top In-Line Filler

Install the vertical in-line filler by fastening it to the lockers by
installing screws from inside the lockers into the vertical filler. Install
optional 48” long cleats for greater stability by installing screws from
inside the lockers into the cleats. Install two 12" long cleats 3/4” from
the top edge of the lockers by installing screws from inside the
lockers into the cleats then install one additional cleat at the same
elevation onto the vertical in-line filler. Fasten the flat top in-line filler
to the cleats with liquid nails (or similar product). #8 x 1-1/4” screws
are provided for installation of the vertical filler and cleats.

FLAT TOP
IN-LINE FILLER

VERTICAL
IN-LINE
FILLER

]
]

I I |AY I

48" LONG CLEAT (2) /
OPTIONAL

\12" LONG CLEAT (3)

TOP VIEW
(FLAT TOP IN-LINE FILLER NOT SHOWN)

Vertical In-Line Filler and Sloping Hood In-Line Filler
Install the vertical in-line filler by fastening it to the lockers by
installing screws from inside the lockers into the vertical filler. Install
optional 48” long cleats for greater stability by installing screws from
inside the lockers into the cleats. Install two 12" long cleats 3/4” from
the top edge of the sloping hoods by installing screws into the cleats
and through the sloping hoods then install one additional cleat onto
the vertical in-line filler 3/4” from its top edge. Fasten the sloping
hood in-line filler to the cleats with liquid nails (or similar product).
#8 x 1-1/4” screws are provided for installation of the vertical filler
and cleats.

SLOPING HOOD
IN-LINE FILLER

VERTICAL
IN-LINE
FILLER

SLOPING
HOOD (2)

R

I IN 1
48" LONG CLEAT (2) / \~12“ LONG CLEAT (3)
OPTIONAL

TOP VIEW
(SHOPING HOOD IN-LINE FILLER NOT SHOWN)

SALSBURY INDUSTRIES
1010 East 62" Street, Los Angeles, CA 90001-1598
Phone: 1-800-562-5377 Int'l Phone: 323-846-6700
Fax: 1-800-562-5399 Int'l Fax: 323-846-6800
www.lockers.com engineering@lockers.com

Installation instructions are provided as general guidelines. It is advised that a professional installer be consulted. Salsbury Industries assumes no product assembly or installation liability.
Copyright © 2016 Salsbury Industries. All rights reserved. (Revision 06, 08/17/2016) Page 4 of 7



Extra Wide Designer Locker Options - 20000 Series

Installation Instructions

Vertical Corner Filler and Flat Top Corner Filler

Vertical corner fillers are comprised of a 3" and a 2" wide piece, each
72" long. Install the vertical corner filler pieces by vertically
overlapping the 3” wide piece beyond the 2” wide piece as shown in
the illustration. Fasten the pieces to the lockers by installing screws
from inside the lockers into the vertical corner fillers. Install optional
48" long cleats for greater stability by installing screws from inside
the lockers into the cleats. Install two 12” long cleats 1/4” from the
top edge of the lockers by installing screws from inside the lockers
into the cleats then install two additional cleats at the same elevation
onto the wall. Fasten the flat top corner filler to the cleats with liquid
nails (or similar product). Notch the flat top corner filler to fit behind
the vertical filler. #8 x 1-1/4” screws are provided for installation of
the vertical filler and cleats.

FLAT TOP

NOTCH TO FIT CORNER FILLER

VERTICAL
CORNER
FILLER

VERTICAL CORNER
FILLER (OVERLAP)

48" LONG CLEAT (2)
OPTIONAL

TOP VIEW

(FLAT TOP CORNER FILLER NOT SHOWN)

Vertical Corner Filler and Sloping Hood Corner Filler
Vertical corner fillers are comprised of a 3" and a 2" wide piece, each
72" long. Install the vertical corner filler pieces by vertically
overlapping the 3” wide piece beyond the 2” wide piece as shown in
the illustration. Fasten the pieces to the lockers by installing screws
from inside the lockers into the vertical corner fillers. Install optional
48" long cleats for greater stability by installing screws from inside
the lockers into the cleats. Install two 12” long cleats 3/4” from the
top edge of the sloping hoods by installing screws into the cleats and
through the sloping hoods then install two additional cleats onto the
wall to support the sloping hood corner filler. Fasten the sloping
hood corner filler to the cleats with liquid nails (or similar product). #8
x 1-1/4” screws are provided for installation of the vertical filler and
cleats.

SLOPING HOOD
CORNERFILLER

VERTICAL
CORNER
FILLER

SLOPING
HOOD (2)

12" LONG CLEAT (4)
VERTICAL CORNER
FILLER (OVERLAP)

48" LONG CLEAT (2)
OPTIONAL

TOP VIEW
(SLOPING HOOD CORNER FILLER NOT SHOWN)

SALSBURY INDUSTRIES
1010 East 62" Street, Los Angeles, CA 90001-1598
Phone: 1-800-562-5377 Int'l Phone: 323-846-6700
Fax: 1-800-562-5399 Int'l Fax: 323-846-6800
www.lockers.com engineering@lockers.com

Installation instructions are provided as general guidelines. It is advised that a professional installer be consulted. Salsbury Industries assumes no product assembly or installation liability.
Copyright © 2016 Salsbury Industries. All rights reserved. (Revision 06, 08/17/2016) Page 5 of 7



Extra Wide Designer Locker Options - 20000 Series

Installation Instructions

Front Filler Fascia

Assemble the front filler fascia by placing color laminated piece in front of base piece, then connect the two pieces together using screws by drilling
at approximately a 75 degree downward angle. #8 x 1-1/4” long screws are provided for the installation.

FRONT FILLER FASCIA —=

»

75 DEGREE ANGLE | COLOR
(approximate) | LAMINATED
SURFACE OF

N FASCIA PIECE

BASE |
PIECE g {

Align front of fascia with front edge of compartment (not the front edge of the door). Install the front filler fascia by fastening it to the lockers by
installing screws from inside the lockers into the base of the front filler fascia. #8 x 1-1/4” long screws are provided for the installation.

FASTEN FRONT FILLER FASCIATO
LOCKERS BY INSTALLING SCREWS
FROM INSIDE OF LOCKERS.

ALIGN FACE OF FACIA WITH
FRONT EDGE OF COMPARTMENT

SALSBURY INDUSTRIES
1010 East 62" Street, Los Angeles, CA 90001-1598
Phone: 1-800-562-5377 Int'l Phone: 323-846-6700
Fax: 1-800-562-5399 Int'l Fax: 323-846-6800
www.lockers.com engineering@lockers.com

Installation instructions are provided as general guidelines. It is advised that a professional installer be consulted. Salsbury Industries assumes no product assembly or installation liability.
Copyright © 2016 Salsbury Industries. All rights reserved. (Revision 06, 08/17/2016) Page 6 of 7



Extra Wide Designer Locker Options - 20000 Series

Installation Instructions

Additional Shelves

An additional shelf is installed into a locker compartment by attaching two L-brackets to each side wall of the locker and to the bottom of the
additional shelf. #10 x 3/4” long screws are provided for the installation.

ADDITIONAL SHELF

S
A\N

L-BRACKET (4)
(ATTACH TO BOTTOM OF ADDITIONAL
SHELF AND LOCKER SIDE WALLS)

SALSBURY INDUSTRIES
1010 East 62" Street, Los Angeles, CA 90001-1598
Phone: 1-800-562-5377 Int'l Phone: 323-846-6700
Fax: 1-800-562-5399 Int'l Fax: 323-846-6800
www.lockers.com engineering@lockers.com

Installation instructions are provided as general guidelines. It is advised that a professional installer be consulted. Salsbury Industries assumes no product assembly or installation liability.
Copyright © 2016 Salsbury Industries. All rights reserved. (Revision 06, 08/17/2016) Page 7 of 7



	Extra Wide Designer Lockers – 20000 Series
	Installation Instructions



<<

  /ASCII85EncodePages false

  /AllowTransparency false

  /AutoPositionEPSFiles true

  /AutoRotatePages /None

  /Binding /Left

  /CalGrayProfile (Dot Gain 20%)

  /CalRGBProfile (sRGB IEC61966-2.1)

  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)

  /sRGBProfile (sRGB IEC61966-2.1)

  /CannotEmbedFontPolicy /Error

  /CompatibilityLevel 1.4

  /CompressObjects /Tags

  /CompressPages true

  /ConvertImagesToIndexed true

  /PassThroughJPEGImages true

  /CreateJobTicket false

  /DefaultRenderingIntent /Default

  /DetectBlends true

  /DetectCurves 0.0000

  /ColorConversionStrategy /CMYK

  /DoThumbnails false

  /EmbedAllFonts true

  /EmbedOpenType false

  /ParseICCProfilesInComments true

  /EmbedJobOptions true

  /DSCReportingLevel 0

  /EmitDSCWarnings false

  /EndPage -1

  /ImageMemory 1048576

  /LockDistillerParams false

  /MaxSubsetPct 100

  /Optimize true

  /OPM 1

  /ParseDSCComments true

  /ParseDSCCommentsForDocInfo true

  /PreserveCopyPage true

  /PreserveDICMYKValues true

  /PreserveEPSInfo true

  /PreserveFlatness true

  /PreserveHalftoneInfo false

  /PreserveOPIComments true

  /PreserveOverprintSettings true

  /StartPage 1

  /SubsetFonts true

  /TransferFunctionInfo /Apply

  /UCRandBGInfo /Preserve

  /UsePrologue false

  /ColorSettingsFile ()

  /AlwaysEmbed [ true

  ]

  /NeverEmbed [ true

  ]

  /AntiAliasColorImages false

  /CropColorImages true

  /ColorImageMinResolution 300

  /ColorImageMinResolutionPolicy /OK

  /DownsampleColorImages true

  /ColorImageDownsampleType /Bicubic

  /ColorImageResolution 300

  /ColorImageDepth -1

  /ColorImageMinDownsampleDepth 1

  /ColorImageDownsampleThreshold 1.50000

  /EncodeColorImages true

  /ColorImageFilter /DCTEncode

  /AutoFilterColorImages true

  /ColorImageAutoFilterStrategy /JPEG

  /ColorACSImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /ColorImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /JPEG2000ColorACSImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /JPEG2000ColorImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /AntiAliasGrayImages false

  /CropGrayImages true

  /GrayImageMinResolution 300

  /GrayImageMinResolutionPolicy /OK

  /DownsampleGrayImages true

  /GrayImageDownsampleType /Bicubic

  /GrayImageResolution 300

  /GrayImageDepth -1

  /GrayImageMinDownsampleDepth 2

  /GrayImageDownsampleThreshold 1.50000

  /EncodeGrayImages true

  /GrayImageFilter /DCTEncode

  /AutoFilterGrayImages true

  /GrayImageAutoFilterStrategy /JPEG

  /GrayACSImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /GrayImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /JPEG2000GrayACSImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /JPEG2000GrayImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /AntiAliasMonoImages false

  /CropMonoImages true

  /MonoImageMinResolution 1200

  /MonoImageMinResolutionPolicy /OK

  /DownsampleMonoImages true

  /MonoImageDownsampleType /Bicubic

  /MonoImageResolution 1200

  /MonoImageDepth -1

  /MonoImageDownsampleThreshold 1.50000

  /EncodeMonoImages true

  /MonoImageFilter /CCITTFaxEncode

  /MonoImageDict <<

    /K -1

  >>

  /AllowPSXObjects false

  /CheckCompliance [

    /None

  ]

  /PDFX1aCheck false

  /PDFX3Check false

  /PDFXCompliantPDFOnly false

  /PDFXNoTrimBoxError true

  /PDFXTrimBoxToMediaBoxOffset [

    0.00000

    0.00000

    0.00000

    0.00000

  ]

  /PDFXSetBleedBoxToMediaBox true

  /PDFXBleedBoxToTrimBoxOffset [

    0.00000

    0.00000

    0.00000

    0.00000

  ]

  /PDFXOutputIntentProfile ()

  /PDFXOutputConditionIdentifier ()

  /PDFXOutputCondition ()

  /PDFXRegistryName ()

  /PDFXTrapped /False



  /CreateJDFFile false

  /Description <<



    /BGR <>

    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>

    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>

    /CZE <>

    /DAN <>

    /DEU <>

    /ESP <>

    /ETI <>

    /FRA <>

    /GRE <>



    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)

    /HUN <>

    /ITA <>

    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>

    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>

    /LTH <>

    /LVI <>

    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)

    /NOR <>

    /POL <>

    /PTB <>

    /RUM <>

    /RUS <>

    /SKY <>

    /SLV <>

    /SUO <>

    /SVE <>

    /TUR <>

    /UKR <>

    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)

  >>

  /Namespace [

    (Adobe)

    (Common)

    (1.0)

  ]

  /OtherNamespaces [

    <<

      /AsReaderSpreads false

      /CropImagesToFrames true

      /ErrorControl /WarnAndContinue

      /FlattenerIgnoreSpreadOverrides false

      /IncludeGuidesGrids false

      /IncludeNonPrinting false

      /IncludeSlug false

      /Namespace [

        (Adobe)

        (InDesign)

        (4.0)

      ]

      /OmitPlacedBitmaps false

      /OmitPlacedEPS false

      /OmitPlacedPDF false

      /SimulateOverprint /Legacy

    >>

    <<

      /AddBleedMarks false

      /AddColorBars false

      /AddCropMarks false

      /AddPageInfo false

      /AddRegMarks false

      /ConvertColors /ConvertToCMYK

      /DestinationProfileName ()

      /DestinationProfileSelector /DocumentCMYK

      /Downsample16BitImages true

      /FlattenerPreset <<

        /PresetSelector /MediumResolution

      >>

      /FormElements false

      /GenerateStructure false

      /IncludeBookmarks false

      /IncludeHyperlinks false

      /IncludeInteractive false

      /IncludeLayers false

      /IncludeProfiles false

      /MultimediaHandling /UseObjectSettings

      /Namespace [

        (Adobe)

        (CreativeSuite)

        (2.0)

      ]

      /PDFXOutputIntentProfileSelector /DocumentCMYK

      /PreserveEditing true

      /UntaggedCMYKHandling /LeaveUntagged

      /UntaggedRGBHandling /UseDocumentProfile

      /UseDocumentBleed false

    >>

  ]

>> setdistillerparams

<<

  /HWResolution [2400 2400]

  /PageSize [612.000 792.000]

>> setpagedevice



	Button3: 
	Button2: 
	Button4: 


